MATH246 Summer II
QUIZ 7

Name:

1. Consider the differential system
i z\_ (1 3 z
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(a) Show that ( o2t ) and ( o2t ) are both solutions for this system.

(b) Give a fundamental matrix for this system and justify your answer.
(c) Give a general solution to this system in vector form.

(d) Compute the natural fundamental matrix for this system associated with ¢ = 0.

Hint: The natural fundamental matrix associated with time #; is given by the formula
®(t) = ©(t)®(t;)"!, where ¥(¢) is any fundamental matrix for the system

(e) Solve the initial value problem for this system with z(0) = —1, y(0) = 1.
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